IL - (847) 841-7867

by Gardner Denve

SERIES 130 high volume centrifugal pumps are close-coupled to standard

MP SERIES 130

2" x 1-1/2" End Suction Centrifugal Pump

PUMPS

NEMA "C" face motors. Open adaptor protects motor. All models are

available in cast iron, bronze or aluminum construction to suit a wide variety

of liquids.

All fasteners are stainless steel to reduce corrosion. Impellers are
dynamically balanced to improve efficiency and bearing life.

Standard carbon / ceramic / Viton mechanical seal is self-adjusting and

corrosion resistant to handle almost any liquid.

Completely tested "Wet End" PumPAKSs are available with or without motors

and can be mounted to standard "C" frame motors in just minutes.

SPECIFICATIONS:

Suction And Discharge 2" x 1-1/2" NPT

Materials Of Construction Bronze, Cast iron

Flow Up to 160 GPM

Head Feet Up to 60’

Impeller 4" semi-open

Motor Upto 3HP

Drive Options Close coupled 56C, Hydraulic motor .37

cu. in., Close coupled 184C, Pedestal,
PumPAK® (without motor)

Seal Special seal material combinations
available (consult factory), Standard
carbon / ceramic / Viton

Max Solid Size 53"

Illinois Location:
(847) 841-7867
860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867
330 Mill Bay South Suite 1511 Afton, MN 55001

PumpSupplylnc.com

IL-(847) 841-7867 PumpSupplylnc.com

Distributed by Pump Supply Inc

Application

« Agricultural
* Commercial
« Industrial

« OEM

MN - (651) 758-7867

MN - (651) 758-7867



SERIES 130 ump Supply Inc MN - (651) 758-7867

CUBIC METERS PER HOUR
0 10 20 30 40
4.0 DA. L 403 MODEL _ SERIES 130
N =R 45 i SIZE  2X1.5
N - -_“\L‘ ‘\ ’\\\ 50 SPEED 3.4_5_0__BEM_
50— e et IMPELLER _STYLEA | 115
_ [18.567 NS TN
E 3 3|8 ~ SN i NS0
1 I —— [ [y N N wn
5 N T N NN R A E
S T N I W o 10 =
E 30 \>/4 AN ] \ o
2 \ N 5( A | é
N 5
NN 3 NPSHR S
20 \\‘ A A 2
P 3 HP FT. | 15
1.5112 20
10 L
-= st 10
P 1o
0 25 50 75 100 125 150 175
GALLONS PER MINUTE

A
= PUMP SUPPLY

I N C O P ORATED

b i)

lllinois Location:
(847) 841-7867
860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867
330 Mill Bay South Suite 1511 Afton, MN 55001

PumpSupplylnc.com

"E PUMP SUPPLY
up INCORPORATED o

IL-(847) 841-7867 PumpSupplylnc.com MN - (651) 758-7867




SER|ES 130 ump Supply Inc

578
11/2" NPT 213 -
DISCHARGE r_
*FOR MOTOR SPECS AND DIMENSIONS CONSULT FAGTORY
I”_-- _______________________
{ 1 56C, 145TC
| i ELECTRIC MOTOR
1
| 1
1 [}
1
P
i I
1
| I
T U P
1 [
L
i |
i I
! |
I
L
L B o i
\___J" """"" _E:::!z::::::::::,i:::}' -

by Gardner Denver

IL-(847) 841-7867

'E PUM
I N C D

lllinois Location:

I )

2" NPT

SUCTION \

jm—  2.88

MN - (651) 758-7867

S UPPLY

o

R AT

SUPPLY

=]

o

(847) 841-7867

860 Church Rd Elgin, IL 60123

Minnesota Location:

(=]

(651) 758-7867
330 Mill Bay South Suite 1511 Afton, MN 55001

PumpSupplylnc.com

PumpSupplylnc.com

AT

-

E D

—
=

o

SERIES 130

MN - (651) 758-7867



SERIES 130 ump Supply Inc MN - (651) 758-7867

MP PUMPS SERVICE PARTS LIST

® Siraight Centrifugal ® Pumpak Series 130
# Electric Motor Drive @ Mechanical Seal 2" x 1%" Pipe Size

IMPORTANT: When ardering parts, specify modeal and serial number shaown on nameplate.

CUANTITY HEQUIRED PER MODEL
TROTATIGN ALt MODIELS LISTED ARE RIGHT HAND
FiPE SIZE 7 x 1142 2K 12 21172
1EEM e . METAL CAST HRON | ALUMINUM ERONZE
S, [ PARTRE BEscRRTION MODEL NOS. | 23225 23353 53004
23228 23228 23227
23231 23225 23230
HOUSING
22930 Housing Assembly - Ing. 1
3 Higusing - Caslt ron ]
4 £1243 Stud - 8.5 - 5187 i3
B 21255 Pipe Plug - 5.5 - 1/8" NPT 2
2GR Houising Assembly - inc.: t
3 Heusing - Aluminum 1
4 #1243 Stird - S5~ 8/16° 4]
& 21255 Pipe Plug - 8.5 - 1/8" NPT ¥
17 21244 Hex Nut - 5.5, - 57167 & g
19 21238 Lockwasher - 3.5, - 5167 & g
22429 Housing Assembly - Inc, 1
3 Housing - Bronze }
4 21150 Stisd - Br. - 516" 6
G 21185 Pipe Phig - Bronze - 178" NFT t
T 21179 Hax Mut - Br. - 5/18" &
18 21184 Washer - Br. 5
1 21149 GGasket 1 1 1
34800 Bennett Dr. Fraser, MI 48026 o
MP PUMPS ;oo  FORM 7018-B
Lonrs DIVISION OF TECUMSEM PROBUCTS CO. FAX: (313) 293-8469 PRINTED M L.5A

a = PUMP SUPPLY
PuMPS | R D R P O R ATED

IL-(847) 841-7867 PumpSupplylnc.com MN - (651) 758-7867

SERIES 130



SER|ES 130 ump Supply Inc

MN - (651) 758-7867

QUANTITY REQLIRED PER MODEL
ROTATION AL MODEES LISTED ARE RIGHT HAND
PIFE SIZE 2 x1-ti7" 2 x1-1/2" 2 x1-1/2"
ITEM e METAL CAST IRON ALUMINLIM BRONZE
ng, | TARFHG RESERIETON MODELNOS. | 23225 23223 23024
23228 23228 23227
23231 23229 23230
IMPELLER
10 22628 impelier - 4” Dia. - C.L - (Model 23231) 3
10 22626 lenpediar - 4" Tha. - Aluen. - (Model 23229) 1
E1Y 22627 Impelier - 47 Gia. - Bronze - (Mode] 23238) 1
10 22675 Impeller - 3-8/167 Dia.-C 1. - (Madei 23225 & 23228} 1
10 22673 Ienpeller - 3-8/16” Dia. - Alum. - {Model 23223 & 23226} 1
10 22674 Iepsller - 3-9/16” Dia. - Bronze - (Model 23224 & 23227) 1
15 22677 Drive Siesve, 7/8" Dia. shaft (Madeis 23223, 23224,
23225, 23229, 23230 and 23231) k| 1 1
15 22676 Drive Sleeve, 5/8" Dia. shaft (Models 232286, 23227
and 23228) k 1 1
? 21163 lenpellsr Drive Key - 5.5 - 46 3 1 1
-] 22621 Impeller Locknut - 5.5 - +/27 k! 1
4 22620 imgpeller Locknut - 8r. - 1/27 1
SEAL
7 22272 Seal Assembly Ing.: t 1 1
1% 22133 Seal Spring Retainer 1 1 1
CLAMP
23002 Ciamp Assembly for 5/8" Shafi
{Modeis 23226, 23227 & 23928} 1 1 ]
8 Clamgp z 2 2
16 21284 Capscrew - 8.8, - 516" 2 2 2
5 21284 Hex Nut - 8.8 - 518" 2 2 2
18 21238 Lockwasher - $.5. - 5/16" 2 2 2
23003 Glamp Assembly for 7/8" Shaft (Models 23223,
23224, 23225, 23228 23230 & 23231) 1 1 t
8 Clamp 2 2 2
16 21264 Capscrew - 5.5. - 5/16" 2 2 2
& 21284 Hex Nut - 5.5, - 5/16" 2 2 2
18 21238 lL.ockwasher - 3.3, - 5/16" 2 2 2
ADAPTOR
14 22671 Adaptor - Cast Iron 1
14 22669 Adaptor - Aluminum 1
14 232870 Adaptor - Bronze 1
12 21251 Capscrew - 3.5, - 3/8" 4 4 4
13 21266 Lotkwasher -8 5, - 3/8" 4 4 4

P

I R

A

1)
]
Al
I=

r L

MP SUPPLY

34800 Bennett Dr. Fraser, Mi 48026

MP m {313) 293-8240 TLX: 358-238

DIVISION OF TECUMSEN PRODUCTS £0. FAX: (313} 283-8469

- FORM 7018-B

PRINTED IN USA

IL-(847) 841-7867 PumpSupplylnc.com

SERIES 130

MN - (651) 758-7867



http://www.tcpdf.org



